Advanced Partial Differential Equations
Professor Doctor Kaushik Bal
Department of Mathematics and Statistics
Indian Institute of Technology Kanpur
Lecture: 28
Wave Equation in n=2 K+1, K=1, 2,...
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Welcome students, in this week's video, we are going to talk about the norm, the Kirchoff’s
formula, but for higher dimensions. So, as we have seen that once you can solve the
homogeneous problem, you can use the explicit formula to construct a solution for the

homogeneous problem via the Duhamel’s principle.
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So, for that the existence theorem for wave equation in odd dimensions:so basically we want

to show that the formula which you obtained.
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This is our Kirchoff’s formula for n greater than equal 3. And this formula solves our wave

equation. So let us end it here.
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